Station Sheets\GS TWR ASSY DTLS.dgn

I\Azrports\Dekalb\BB3-BEELEC\Airport\Sheste\Mioro-!

= P4\18\2087, 82:56 PM

= kde

PLOT SCALE = 2.8 13718 ‘s /7 IN.

PLOT DATE
USER NAME

FILE NAME

CONTRACT NOQ.

~— OBSTRUCTION LICHT PER DETAL 37816 X 11/2* 5.5. HEX BOLT
\\- LOCK CHANNEL (TYPRICAL) NOTES
\% ANTENNA TOWER LEG TD WHICH GROUNDING ASSEMBLY IS BONDED, SHALL BE TACK-WELDED AT THE BOLTED CONNECTIONS
o AR TERMINAL PER_ ANTENNA MOUNTING CHANNEL TO PROVIDE ELECTRICAL CONTINUITY BETWEEN THE TOWER SECTIONS.
2. THE LADDER SHALL BE INSTALLED ON RIGHT SIDE OF ANTENNA TOWER WHEN LOOKING TOWARD RUNWAY THRESHOLD,
5 WHTE T0P SECTON /\ CENTERLINE OF LADDER SHALL BE CONCIDENT WITH THE CENTERLINE oF THE ANTENNA TOWER FACE TO WHICH IT 15
2t NOTE 7 A 3 BEING ATTACHED, N THE EVENT THE GLIDE SLOPE ANTENNA, LADDER AND SAFETY CLMBING DEVICE IS PURCHASED
T - . THOMPSON NO. 32 ° FROM ANTENNA PRODUETE (OF WNERA LTS TH T e O AR T OR S RO T T MITENNA PRODUCTS GETHE
- ooe coNDLIST OR 3/8' 5.5. LOCK WASHER LOCATION OF THE NEW ISTALLATION S0 THAT SCE-2 SAFCTY SLECUES CAN BE REPLACED ONCE REPLACEMENT
S~ S S5 HEX NUT PARTS ARE AVAILABLE.
- . 3. THE CONTRACTOR SHALL INSTALL ANTENNA BRACKET ASSEMBLIES (3 REQUIRED) AT HEIGHTS SHOWN PER DETAL °*F,
> HORIZONTAL TTEMS SHALL BE LEVEL AND VERTICAL iTEMS SHALL 8E PLUMB.
N R W ANTENNA_MOUNTING N 4, TOWER SHALL BE ASSEMBLED WITH ALTERNATING ORANGE AND WHITE COLORED SECTIONS.
T R A b L 5. CONTRACTOR SHALL ERECT TOWER TO FULL 55°HEIGHT. ANTENNA ELEMENT LOCATIONS WILL BE ADJUSTED BY FAA
R ARDL RN T oo 3/8° S.5. LOCK INSTALLATION PERSONNEL 7O ACHEVE BEST SIGNAL CENERATION. CONTRACTOR SKOULD WCLUDE N THE D A SEPARATE
EONFIR O SET T LDt 2 oPE WASHER TENATIVE COST ESTIMATE TO RETURN TO THE SITE AND SHORTEN THE TOWER TO 57-0° MAXIMUM HEIGKT ABOVE
VER. REP. & ERA AND CENTERLINE OF TOP ANTENNA ELEMENT, THIS WILL REQUIRE THE CONTRACTOR TO CUT ANTENNA TOWER STRUCTURE,
R AN e TioN 3/8"16 5.5. LADDER, AND SAFETY CLIMB RAIL AND RELOCATE AR TERMINAL, DOWN CONDUCTOR, AND OBSTRUCTION LIGHT TO TOP
o HEX NUT N OF SHORTENED TOWER. TOWER LEGS SHALL BE CAPPED WITH PIPE CAPS WELDED OR THREADED IN PLACE. NON~-CONTINUOUS
L CROSS-BRACING SHALL BE CUT AT TS ORIGIN.
TOWER LEG CONNECTION 6. FIELD-DRILL 3/8° DIAM, HOLE IN ANTENNA MOUNTING FRAME, SCRAPE PAINT FROM BONDING AREA AND INSTALL GROUNDING LUG AND
PER DETAIL *5° (TYPICAL). 6 AWG BARE COPPER GROUNDING WIRE. CONNECT & AWG BARE TO ANTENNA TOWER STRUCTURE USING GROUNDING CLAMP.
: 7. SEE THE OWNER-FURNISHED PROPERTY LIST FDR ITEMS PROVIDED BY THE DEKALB AIRPORT.
CONFIRM TOWER COLORS AND ARRANGEMENT CONFORM TO FAA AC 70/7460-K OBSTRUCTION
GROUNDING LUG MARKING AND LIGHTING.
PER NOTE 6
GALVANIZED STEEL
LADDER, SEE NOTE 2.
, 6 AWG BARE COPPER ANTENNA TOWER LEG -
10" ORANGE SECTION ———— GROUNDING WIRE "/(ONLY ONE_LEG SHOWN e
U0 oty Q{ A 10NS FOR CLARITY) 1/2* U-BOLT
‘ D GA'LVBANIZED SE%FETY (TYPICAL)
o A TN TONER SETRLE S AnD o =
€y U ANTENNA MOUNTING FRAME s Y ~BRA
ANTENNA MOUNTING FRAME . \ - == GROUNDING CLAMP.
m-—. s e SEE NOTE 6.
— I .
= S e— Y Pl A
=) ANTENNA et ANTENNA ELEMENT 11 3° U-BOLT CLAMP, ANTENNA TOWER
z BRACKET NS Sl 3/8'-16 (TYPICAL CROSS~BRACE
: CL {TYPICAL OF THREE} E: /OF TWO PER LEG) ‘
2 3 ' 41
I A
2
" o
w :
o ANTENNA MOUNTING CHANNEL
's]
i - SUPPORT ANGLE (TYPICAL PLAN
I~ OF TWD PER LEG)
2 & 3/8' S.5. LOCK WASHER rr GALVANZED SATETY CLMB RAL
= » PER DETAILS *3*AND *
n 20 ORANGE/WHITE / 2 3/8'-16 S.S. HEX NUT
SECTION. SEE NOTE T S
S -
g :9 172" GALVANIZED U-BOLT
- 7
wul
2l = ANTENNA ELEMENT MOUNTING BRACKET
Ll
5 2 AND ANTENNA TOWER CONNECTIONS T T
w |
w
|
] R ANTENNA ELEMENT (TYPICAL OF 3). DETAIL I ANTENNA TOWER CROSS-BRACE
5 —~- SEE DETAIL “2° FOR MOUNTING SCALE: NONE
z - DETAILS. LOWER ANTENNA TO |
] SWAY FROM RUNWAT CENTERLINE, &S | DALVANZED STEEL
o . Al . .
2 CONFIRM OFFSET WITH GLDE SLGPE RAIL CARRIER -:Q
Z M REE peR bR BRECTION, r SPLICE PLATE TOWER LEG LA
~
‘ ELEVATION
] /89 X 2 112 IENT TO A
e x 4P B0LT g X2y LADDFR ATTACHMENT TO ANTENNA TOWER
&
2 DETAIL
N SCALE: NONE
§%}
w
£ 20' ORANGE/WHITE BOTTOM
2| SECTION. SEE NOTE 7. = ANTENNA HEATER AND OBSTRUCTION TYPICAL SAFETY CLIMB
a <1} LIGHT POWER CONDUIT AND ANTENNA
ey - RF_SIGNAL CABLE CONDUIT PER DWG RAIL SPLICE JOINT
@ PR DKB-D-GSC2-EO!
- NG
® RN DETAIL SEE NOTE | DEPARTMENT OF TRANSPORTATION
® SCALE: NONE FEDERAL AVIATION ADMINISTRATION
<X . . GREAT LAKES REGION CHICAGO, ILLINOIS
GALVANIZED LOCK WASHER
-
=
RAIL CARRIER GLIDE SLOPE
Ry GALVANIZED 7/8'-9 HEX NUT
) ANTENNA TOWER ASSEMBLY DETAILS
L RUNWAY 02
3/8'-16 HEX NUT 4] TOWER LEG
(TYPICAL) e
&A1
CONCRETE FOUNDATION 3/816 X 3 TAP BOLT DETAIL
PER DWG DKB-D-GS02-COI SCALE: NONE DEKALB DEKALB TAYLOR MUNICIPAL AIRPORT
. LADDER RUNG CLAMP REVIEWED BY |SUBMITTED BY APPROVED BY
ELEVATION TYPICAL SAFETY CLIMB
f
55’ GLIDE_SLOPE_ANTENNA TOWER RAIL_LADDER RUNG PTG PTRTEOR W,
DETA“.. DATE a0 S0 BV OATE ]qu
DETA”_. CHCASD NAS
baneN TAD IMPLEMENTATION DRARNG NG,
SCALE: NONE SCALE: NONE owre sestmpTon o T |ww s Fos CenteR DKB D-GS02-S01

SHEET 36 OF 48




